AEFAER B R RRBIKES )

E | FaKAE
B ook oS A
K H 5H14H TH4H 9H9H 11H11H 1H16H 3HI0H
ok oA 9:20 9:10 9:20 9:20 15:20 9:30 e KA %/ IME P iE
JEVERE [mg/1.] KE%‘FIEEM[E

= & 13.9 24.2 24.2 15.2 5.7 3.0 24.2 3.0 14.4
K 5 12.2 20.5 22.0 14.2 6.5 4.3 22.0 4.3 13.3
5% =z i #l 0.1l E 1.12 0.86 0.77 0.97 1.42 1.13 1.42 0.77 1.05
— i # ImLF 100{E L T 0 0 0 0 0 0 0 0 0
K 115 BRIk B [ daskenc i daskenc i dashkenc i daskencl BT S| R R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - - <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.3 0.2 0.3 0.3 0.6 0.3 0.6 0.2 0.3
7 v FE R VEDONEW 0.8 0.05 0.05 - - 0.05
tH % i 0.6 0.06 0.13 0.07 0.16 0.18 0.09 <0.06 0.18 <0.06 0.11
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 4.5 3.1 3.4 3.5 4.1 3.6 4.5 3.1 3.7
TN =T FT NG (E) 300 0.1 27.1 14.7 31.7 27.3 31.2 26.8 31.7 14.7 26.5
7 % 7% 2 Y 500 1 55 102 71 72 37 62 102 37 67
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 1.0 0.8 0.6 0.6 0.7 0.5 1.0 0.5 0.7
D H | 5.8~8.6 0.01 7.71 7.37 7.73 7.50 7.55 7.58 7.73 7.37 7.57

Ik TRV L Bl L L L L L
5 K| BEETRWIE Bl [V A [V A LY A [V A [V A
@, S 5(F)| 0.5(F) 1.5 1.0 <0.5 0.8 <0.5 <0.5 1.5 <0.5 0.6
& JiE 208)] 0.1(%) 0.1 0.1 0.1 0.1 <0.1 <0.1 0.1 <0.1 <0.1
AR A H
& 2 12 i | | 75.1] 53.4] 79.7] 81.8] 77.5] 87.1] 87.1] 53.4] 75.8]
IV FIARY DY L5 (JFK)
PN 15 i 4.5 49 4.0 6.8 350 BEET 350 Hwd 69
B & M 3 o H 5 13 12 5 15 0 15 0 8




AEFAER B R RRBIKES )

E | RS
B ok Hos 75 &1y
K H 5H14H TH4RH 9H9H 11A11A 1H6H 3H10H
B K B A 11:00 9:30 9:40 9:50 10:10 9:50 e KA f/IME P iE
JEVERE [mg/1.] KE%‘FIEEM[E

= & 17.2 22.8 24.2 14.5 1.5 3.7 24.2 3.7 14.5
K 1 13.1 19.9 21.5 13.2 7.5 4.5 21.5 4.5 13.3
5% 7 i % 0.1 F 0.13 0.12 0.11 0.12 0.15 0.15 0.15 0.11 0.13
— i # ImLF 100{E L T 0 0 0 0 0 0 0 0 0
K 1% BRIk B B B B B BEHET] BmEEd| B3| ke
K B K O %= o b A& W 0.0005] 0.00005 <0.00005 - - <0.00005
MO M B = & 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST A Y RO ALY T v 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.4 0.3 0.4 0.3 0.5 0.4 0.5 0.3 0.4
R YA EXREY 0.8 0.05 0.07 - - 0.07
i % % 0.6 0.06 <0.06 <0.06 0.09 <0.06 0.10 <0.06 0.10 <0.06 <0.06
B K O 2 ot & W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
WOk O o kA& W 1.0 0.01 <0.01 - - <0.01
T H RO ZEOE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
WOk B 4 F v 200 0.1 8.2 4.5 11.2 7.1 27.1 9.7 27.1 4.5 11.3
NN T L, T R 7L () 300 0.1 41.6 29.7 44.7 38.9 58.8 39.3 58.8 29.7 42.2
7 % % 2 ® 500 1 74 163 92 39 125 73 163 39 94
7 = ) — L M 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 0.7 0.6 0.4 0.4 0.4 0.4 0.7 0.4 0.5
D H | 5.8~8.6 0.01 7.50 7.26 7.64 7.22 7.65 7.50 7.65 7.22 7.46

Ik TRV L L L L L L L
5 K| BEETRWIE Rl [V A [V A [V A [V A [V A
f 3 5(B)] 0.5(8) 1.2 1.0 <0.5 <0.5 <0.5 <0.5 1.2 <0.5 <0.5
Gl i 20) | 0.10%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
J0L 1 A T
& = 1% i | | 122] 112] 132] 115] 224] 113] 224] 112] 136]
IV RAR) T W (JFUK)
K 1% i 4.0 49 23 13 2.0 2.0 49 2.0 16
o & M 3 B M 3 17 1 3 5 0 17 0 5




AEFAER B R RRBIKES )

E | FaKAE
B ook oS N
K H 5H8H 7H3H 9H4H 11A7H 1H8H 3HI1H
B K B A 10:30 11:50 10:40 10:20 10:10 11:00 e KA f/IME IS
JEVERE [mg/1.] KE%‘FIEEM[E

= & 13.4 31.2 28.2 13.0 1.1 11.0 31.2 1.1 16.8
K 5 16.1 22.1 23.9 15.9 6.7 8.1 23.9 6.7 15.5
5% =z i #l 0.1l E 0.16 0.15 0.28 0.13 0.72 0.69 0.72 0.13 0.36
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 1% BRIk B B B B B BT S| R R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - - <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST LAy RO LY T v 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.3 0.4
R YA EXREY 0.8 0.05 0.07 - - 0.07
tH = ik 0.6 0.06 0.14 0.33 0.41 0.47 0.13 0.15 0.47 0.13 0.27
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ v H RO ZEDOIAD 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
WOk B 4 F v 200 0.1 3.3 3.7 4.1 3.8 3.6 3.6 4.1 3.3 3.7
NN T L, T R 7L () 300 0.1 69.9 51.9 58.5 58.0 67.2 65.8 69.9 51.9 61.9
7 % 7% 2 Y 500 1 97 74 88 79 102 79 102 74 87
7 = ) — L X 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 0.3 <0.3 0.3
D H | 5.8~8.6 0.01 7.81 7.43 7.28 7.67 7.89 7.79 7.89 7.28 7.65

Ik TRV L L L L L L L
5 K| BEETRWIE Rl [V A [V A [V A [V A [V A
f JE 5(B)] 0.5(8) <0.5 0.8 <0.5 <0.5 <0.5 <0.5 0.8 <0.5 <0.5
Gl i 208)  0.1(%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
e
L= = = i %] \ 153] 111] 136] 148] 150] 152] 153] 111] 142]
IV RAR) T W (JFUK)
N W £ 1.8 33 2.0 2.0 A B 33| Rt 6.5
- 0 7 1 1 1 0 7 0 2




AKEFAER H R (RRBIKIES)

E | FaKAE
Bk M A SR
B oK H 4H4H 6H6H 8H8H 10A3H 12A2H 2H12H
B K B A 11:10 11:50 11:30 11:00 11:10 10:40 e KA f/IME IS
JEVERE [mg/1.] KE%‘FIEEM[E

= i 15.6 22.2 32.1 20.8 8.6 4.8 32.1 4.8 17.4
K 15 14.6 20.4 25.6 22.5 9.0 3.2 25.6 3.2 15.9
7% =z i #l 0.1l E 0.62 0.39 0.28 0.15 0.22 0.34 0.62 0.15 0.33
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 115 RS & [idannens B B B B B Bt B R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - -[ <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST LAy RO LY T v 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.6 0.7 0.7 0.7 0.6 0.5 0.7 0.5 0.6
7 v FE R VEDONEW 0.8 0.05 0.05 - - 0.05
tH = i 0.6 0.06 0.11 <0.06 0.06 0.08 0.07 0.07 0.11 <0.06 0.07
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 0.006 <0.005 <0.005 <0.005 0.006 <0.005 <0.005
ot W 4 F v 200 0.1 3.3 3.6 2.9 2.9 2.9 3.0 3.6 2.9 3.1
TN =T FT NG (E) 300 0.1 30.8 40.3 52.0 50.7 47.0 49.4 52.0 30.8 45.0
7 % 7% 27 Y 500 1 63 68 69 70 37 67 70 37 62
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
A (2FHRE (TOC) O & 3 0.3 1.0 0.3 <0.3 0.7 <0.3 <0.3 1.0 <0.3 0.3
D H | 5.8~8.6 0.01 7.72 7.77 7.83 7.81 7.77 7.82 7.83 7.72 7.79

Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) 1.4 0.6 <0.5 1.2 <0.5 <0.5 1.4 <0.5 0.5
Gl i 20) | 0.10%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AR A H
L= = = i %] \ 78.2] 92.3] 107] 117] 110] 107] | 117] 78.2] 102]
IV FIARY DY L5 (JFK)
PN 15 i 31 11 7.8 23 2.0 1.8 31 1.8 13
B & M 3 o H 8 3 4 3 0 0 8 0 3




AKEFAER H R (RRBIKIES)

E | FaKAE
B ook oS TR
B oK H 4H4H 6H6H 8H8H 10A3H 12H2H 2H12H
B K B A 9:40 9:50 9:40 9:40 9:40 9:30 KA f/IME P fE
JEVERE [mg/1.] KE%‘FIEEM[E

= i 15.4 24.6 31.2 21.6 8.0 2.3 31.2 2.3 17.2
K 15 13.6 17.3 22.4 19.6 13.5 9.5 22.4 9.5 16.0
7% =z i #l 0.1l E 0.54 0.73 0.49 0.42 0.43 0.52 0.73 0.42 0.52
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 115 RS & [idannens B B B B B Bt B R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - -[ <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
WO REE R K O R EE R 10 0.1 0.9 0.7 0.8 0.8 1.0 0.9 1.0 0.7 0.9
7 v FE R VEDONEW 0.8 0.05 0.07 - - 0.07
tH % i 0.6 0.06 0.10 0.07 0.08 0.10 0.09 0.12 0.12 0.07 0.09
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 3.7 4.1 3.6 3.5 3.3 3.5 4.1 3.3 3.6
TN =T FT NG (E) 300 0.1 46.2 42.3 46.7 46.9 41.0 36.0 46.9 36.0 43.2
7 % 7% 27 Y 500 1 65 77 76 105 68 86 105 65 80
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
A (2FHRE (TOC) O & 3 0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
D H | 5.8~8.6 0.01 7.11 7.09 7.00 6.89 6.76 6.82 7.11 6.76 6.95

Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
Gl i 20) | 0.10%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AR A H
& = 15 i ES| | 108] 106] 113] 121] 109] 95.0] | 121] 95.0] 109]
IV FIARY DY L5 (JFK)
PN 15 i R R R R R mHEEd mHEET| BRHEET|] BRHEET
B & M 3 o H 0 0 0 0 0 0 0 0 0




AEFAER B R RRBIKES )

E | FaKAE
PR oK M S K2Rk
B oK H 4H4H 6H6H 8H8H 10A3H 12H2H 2H12H
B K B A 9:50 10:10 10:00 10:00 9:50 9:40 KA %/ IME P iE
JEVERE [mg/1.] KE%‘FIEEM[E

= & 15.7 23.2 29.8 20.9 7.8 1.3 29.8 1.3 16.5
K 5 12.5 19.2 26.1 22.1 12.4 5.2 26.1 5.2 16.3
7% =z i #l 0.1l E 0.29 0.31 0.19 0.19 0.26 0.34 0.34 0.19 0.26
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 115 RS & B B B B B B Bt B R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - - <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.6 0.5 0.7 0.7 0.6 0.6 0.7 0.5 0.6
7 v FE R VEDONEW 0.8 0.05 <0.05 - - <0.05
tH % i 0.6 0.06 <0.06 <0.06 <0.06 0.06 0.06 <0.06 0.06 <0.06 <0.06
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 3.2 3.3 3.0 2.8 3.1 3.1 3.3 2.8 3.1
TN =T FT NG (E) 300 0.1 30.7 35.8 39.3 40.7 39.8 41.2 41.2 30.7 37.9
7 % 7% 2 Y 500 1 40 49 55 49 47 59 59 40 50
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 <0.3 <0.3 0.4 <0.3 <0.3 <0.3 0.4 <0.3 0.3
D H | 5.8~8.6 0.01 7.64 7.52 7.31 7.26 7.48 7.61 7.64 7.26 7.47

Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
Gl i 20) | 0.10%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AR A H
& 2 = i | | 76.6] 89.4] 93.7] 107] 112] 91.8] | 112] 76.6] 95.1]
IV FIARY DY L5 (JFK)
K 15 B RHET 6.8 R R mHEd 17 17] BHEET 4.0
B & M 3 o H 0 0 0 0 0 0 0 0 0




AKEFAER H R (RRBIKIES)

E | FaKAE
B ook oS /)1
B oK H 4H4H 6H6H 8H8H 10A3H 12A2H 2H12H
B K B A 10:20 10:30 10:40 10:20 10:30 10:00 e KA f/IME IS
JEVERE [mg/1.] KE%‘FIEEM[E

= i 14.8 20.8 31.8 21.4 8.8 0.5 31.8 0.5 16.4
K 15 13.1 18.9 27.2 21.4 9.6 4.4 27.2 4.4 15.8
7% A i =l 0.1l E 0.32 0.26 0.10 0.52 0.37 0.86 0.86 0.10 0.41
— i # ImLH100MELL T 2 0 0 0 0 0 2 0 0
K 115 RS & [idannens [idaskcnc mHed [idaskcnc [ daskens [ daskens Bt B R
KB Kk % o A& W 0.0005] 0.00005 <0.00005 - -[ <0.00005
O M Ok ® # 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST LAy RO LY T v 0.01 0.001 <0.001 - - <0.001
WO REE R K O R EE R 10 0.1 0.5 0.5 0.9 0.8 0.5 0.4 0.9 0.4 0.6
7 v FE R VEDONEW 0.8 0.05 0.06 - - 0.06
H = i 0.6 0.06 <0.06 <0.06 <0.06 0.06 0.10 0.08 0.10 <0.06 <0.06
B & O %X O bt AW 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
WOk B O b AW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 3.6 3.3 3.4 3.6 4.1 4.2 4.2 3.3 3.7
TN =T FT NG (E) 300 0.1 50.7 67.4 73.4 70.4 69.3 61.6 73.4 50.7 65.5
7 % 7% 27 W 500 1 59 70 70 102 76 116 116 59 82
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
A (2FHRE (TOC) O & 3 0.3 1.3 0.6 0.5 1.0 0.4 0.4 1.3 0.4 0.7
D H | 5.8~8.6 0.01 7.85 7.88 7.82 7.92 7.91 7.90 7.92 7.82 7.88

Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) 3.8 1.8 1.3 1.0 <0.5 <0.5 3.8 <0.5 1.3
Gl i 20) | 0.10%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AR A H
L= = = i %] \ 104] 141] 156] 163] 160] 132] | 163] 104] 143]
IV FIARY DY L5 (JFK)
PN 1% B 7.8 2.0 4.5 33 e 4.5 33| MEHET 8.6
B & M 3 o H 4 4 2 5 1 0 5 0 3




AEFAER B R RRBIKES )

E | FaKAE
Bk # s5 JR
K H 5H14H TH4H 9H9H 11H11H 1H6H 3HI0H
ok oA 10:10 10:10 10:20 10:20 10:50 10:40 B KAE %/ IME P iE
JEVERE [mg/1.] KE%‘FIEEM[E

= & 17.7 29.8 29.1 16.1 6.0 9.8 29.8 6.0 18.1
K 5 14.5 23.4 21.8 14.0 6.3 5.8 23.4 5.8 14.3
5% =z i #l 0.1l E 0.17 0.20 0.32 0.43 0.49 0.56 0.56 0.17 0.36
— i # ImLF 100{E L T 0 2 0 0 0 0 2 0 0
K 115 BRIk B [ daskenc i daskenc i dashkenc i daskencl BT S| R R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - - <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.3 0.3 0.4 0.5 0.5 0.6 0.6 0.3 0.4
7 v FE R VEDONEW 0.8 0.05 0.05 - - 0.05
tH % i 0.6 0.06 <0.06 <0.06 <0.06 0.10 0.12 0.07 0.12 <0.06 <0.06
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 3.4 3.3 3.3 3.2 3.8 5.0 5.0 3.2 3.7
TN =T FT NG (E) 300 0.1 22.4 16.8 23.9 24.0 30.4 24.0 30.4 16.8 23.6
7 % 7% 2 Y 500 1 30 26 49 30 35 39 49 26 35
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 1.3 0.7 0.4 0.5 <0.3 0.8 1.3 <0.3 0.6
D H | 5.8~8.6 0.01 7.27 7.13 7.33 7.24 7.43 7.32 7.43 7.13 7.29

Ik TRV L L L L L L L
5 K| BEETRWIE Rl [V A [V A [V A [V A [V A
@, S 5(F)| 0.5(F) 2.5 1.0 <0.5 <0.5 <0.5 <0.5 2.5 <0.5 0.6
& JiE 208)] 0.1(%) <0.1 <0.1 <0.1 <0.1 0.3 <0.1 0.3 <0.1 <0.1
AR A H
& 2 = i | | 57.6] 50.9] 63.2] 65.9] 79.8] 66.9] 79.8] 50.9] 64.1]
IV FIARY DY L5 (JFK)
PN 15 i 2.0 49 27 2.0 49 B 49| mHEd 22
B & M 3 o H 1 2 0 0 0 0 2 0 1




AEFAER B R RRBIKES )

E | FaKAE
Bk M A S
B oK H 4H2H 6H3H 8H5H 10H2H 12H5H 2H3H
B K B A 10:10 10:10 9:30 10:20 10:00 9:50 KA %/ IME P fE
JEVERE [mg/1.] KE%‘FIEEM[E
= i 14.1 18.4 25.8 22.1 8.9 7.1 25.8 7.1 16.1
K 5 10.8 16.7 23.5 20.6 11.2 8.2 23.5 8.2 15.2
7% =z i #l 0.1l E 0.23 0.24 0.28 0.13 0.15 0.11 0.28 0.11 0.19
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 115 RS & B B B B B B Bt B R
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - -[ <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.8 0.8 0.6 0.6 0.6 0.6 0.8 0.6 0.7
7 v FE R VEDONEW 0.8 0.05 <0.05 - - <0.05
tH % i 0.6 0.06 <0.06 <0.06 <0.06 0.14 <0.06 <0.06 0.14 <0.06 <0.06
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
~ L A B O EDOLAE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ot W 4 F v 200 0.1 3.7 3.7 3.5 4.5 3.0 3.4 4.5 3.0 3.6
TN =T FT NG (E) 300 0.1 24.5 21.5 26.2 27.2 51.4 30.5 51.4 21.5 30.2
7 % 7% 27 Y 500 1 52 44 64 32 52 70 70 32 52
7 = )  — L H 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 <0.3 0.4 <0.3 <0.3 <0.3 0.5 0.5 <0.3 0.3
D H | 5.8~8.6 0.01 7.50 7.56 7.56 7.46 7.69 7.62 7.69 7.46 7.57
Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) <0.5 0.8 <0.5 <0.5 <0.5 0.9 0.9 <0.5 <0.5
Gl i 20) | 0.10%) <0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1
AR A H
& 2 = i | | 69.7] 63.3] 77.4] 79.0] 82.2] 76.7] | 82.2] 63.3] 74.7]
IV FIARY DY L5 (JFK)
K 15 B B 46 350 130 33 34 350 BHET 99
B & M 3 o H 2 0 0 3 1 0 3 0 1




AEFAER B R RRBIKES )

E | FaKAE
B ook oS A
K H 4H2H 6H3H 8H5H 10H2H 12A5H 2H3H
B K B A 10:40 10:50 10:20 11:00 10:40 11:30 e KA f/IME P iE
JEVERE [mg/1.] KE%‘FIEEM[E
= & 18.3 20.3 28.8 27.6 10.2 6.9 28.8 6.9 18.7
K 5 14.8 22.3 30.6 24.4 12.6 4.9 30.6 4.9 18.3
5% =z i #l 0.1l E 0.67 0.22 0.18 1.10 0.53 0.51 1.10 0.18 0.54
— i # ImLH100MELL T 0 0 0 0 0 0 0 0 0
K 1% BRIk B B B B B B BT B B
K K O Z o A& #m| 0.0005] 0.00005 <0.00005 - - <0.00005
O M e T E 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST Aty R ALY T 0.01 0.001 <0.001 - - <0.001
R R LT 10 0.1 0.5 0.6 0.5 0.7 0.4 0.4 0.7 0.4 0.5
R YA EXREY 0.8 0.05 <0.05 - - <0.05
tH = % 0.6 0.06 <0.06 <0.06 <0.06 0.07 0.08 0.07 0.08 <0.06 <0.06
% Kk O 2 O {t A& W 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W K O E o kAW 1.0 0.01 <0.01 - - <0.01
T H RO ZEOE W 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
WOk B 4 F v 200 0.1 4.1 3.8 3.7 3.4 3.7 3.9 4.1 3.4 3.8
NN T L, T R 7L () 300 0.1 34.6 24.3 37.7 39.0 41.7 44.2 44.2 24.3 36.9
7 % 7% 2 Y 500 1 57 61 61 95 39 78 95 39 65
7 = ) — L M 0.005]  0.0005 <0.0005 - - <0.0005
AW (2ABRFE (TOC) D& 3 0.3 0.6 0.8 0.5 0.4 <0.3 0.5 0.8 <0.3 0.5
D H | 5.8~8.6 0.01 7.45 7.47 7.38 7.49 7.60 7.71 7.71 7.38 7.52
Ik TRV L HERL WL WL WL WL Bl
5 K| BEETRWIE HERL [ [ [ [ [
@, S 5(F)| 0.5(F) 1.3 1.3 0.5 1.0 <0.5 <0.5 1.3 <0.5 0.7
Gl i 20) | 0.10%) <0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1
e
= i (= i £ \ 92.2] 68.2] 95.0] 111] 111] 106] | 111] 68.2] 97.2]
IV RAR) T W (JFUK)
K 15 B RHET 13 33 79 R mHEEd 79| RREET 21
o & M 3 B M 9 1 2 1 1 0 9 0 2




